Answers
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2) anapple

1) awmelon and a banana
an apple and an apricot or a peach and a strawberry
an apple, a strawberry and two blueberries or three apricots and a strawberry

2) an apple, a strawberry and two blueberries or three apricots and a strawberry

3) Julia is correct. In order to have a mass greater than 2kg, one piece of fruit must be a melon. There is no piece
of fruit with a mass of $00g so it is not possible to have two pieces of fruit with a mass of 2kg $00g.

1) Accept any correct combinations, such as banana and
apricot (150g + 309) and strawberry and apple (1S x 10g + 30g).
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